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Three little boys had three little boys, they each had a wooden horse. One horse was red, one horse was blue, and one horse
was green of course. One summer's day while they were out at play the boy on the horse of red, poor little chap he had a
mishap, he broke off his horse's head. But just before then, perhaps around ten, something that Tom had seen, another little boy
had broke his toy, the boy on the horse of green. The one little boy who had not broke his toy, the boy on the horse of blue, did
not like to see his friends' misery so he broke his horse in two. Three little boys - Tom, Dick, and Harry - now all had broken
toys. From this information and the following clues, for each little boy, can you determine the color of his horse, what
happened to it and at what time?

1. The wheels fell off in the first incident. 3. The horse in the second incident was not owned by Harry.
2. Tom did not own the red horse. 4. Harry was not involved in the third incident.
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Three little boys had three little boys, they each had a wooden horse. One horse was red, one horse was blue, and one horse
was green of course. One summer's day while they were out at play the boy on the horse of red, poor little chap he had a
mishap, he broke off his horse's head. But just before then, perhaps around ten, something that Tom had seen, another little boy
had broke his toy, the boy on the horse of green. The one little boy who had not broke his toy, the boy on the horse of blue, did
not like to see his friends' misery so he broke his horse in two. Three little boys - Tom, Dick, and Harry - now all had broken
toys. From this information and the following clues, for each little boy, can you determine the color of his horse, what
happened to it and at what time?

1. The wheels fell off in the first incident. 3. The horse in the second incident was not owned by Harry.
2. Tom did not own the red horse. 4. Harry was not involved in the third incident.
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